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Academic Writing sample task — Task 1

Task 1A

You should spend about 20 minutes on this task.

The chart below shows the number of men and women in further education in
Britain in three periods and whether they were studying fulltime or part-time.

Summarise the information by selecting and reporting the main features, and make
comparisons where relevant.

Write at least 150 words.
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Academic Writing sample task — Task 2

Task 2A

You should spend about 40 minutes on this task.

Write about the following topic.

The first car appeared on British roads in 1888. By the year 2000 there may
be as many as 29 million vehicles on British roads.

Alternative forms of transport should be encouraged and
international laws introduced to control car ownership and use.
To what extent do you agree or disagree?

Give reasons for your answer and include any relevant examples from your knowledge or
experience.

Write at least 250 words.
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Sample Candidate Writing Scripts and Examiner Comments

Both the Academic and GeneralTraining
Writing Modules consistof two tasks,Ta
sk 1 and Task

2 .Each task is assessed independently. T
h e assessment of Task 2 carries more weight in
marking than Task 1.

Detailed performance descriptors have been
H%\éenlgge d which describe written perfo

at the 9 IELTS bands. These descriptors apply
to both the Academic and General Training
Modules.

Task 1 scriptsare assessed on the fo
llowin g criteria:

- Task Achie vem ent

- Coherence and Cohesion

eLexical Resource

eGrammatical Range and Accuracy

Task 2 scriptsare assessed on the fo
llowin g criteria:

» T ask Response
» Coherence and Cohesion
«Lexical Resource

eGrammatical Range and Accuracy

Candidatesshould note thatscripts will be
penalised if they are a) under the minimum word
length, b) partly or wholly plagiarised, c) not

written as full, connected text (e.g. using bullet

Coherence and Co hes ion

This criterion is concerned with the overall clarity

and fluencyofthe message:howthe response
organises and links information, ideas and
language.Coherence refersto the linking of
ideasthrough logical sequencing.Cohesion
refers to the varied and appropriate use of

cohesive devices (for example,logical
connectors, pronouns and conjunctions) to

as sist in m ak ing the co nceptual and referen tial
relationships between and within sentences

clear.

Lexical Resource

This criterion refers to the range of vocabulary

the candidate hasused and the accuracyand
appropriacyof thatuse in termsofthe specific
task.

GrammaticalRange and Accuracy

This criterion refers to the range and accurate
use of the candidate’s grammatical resource as
manifested in the candidate’s writing at sentence
level.

Task 2

Task Response

In both Academic and General Training Modules

Task 2 requires the candidates to formulate and

develop a position inrelation to a given prompt
in the form of a question or statement. Ideas

should be supported byevidence,and examples
may be drawn from the candidates’ own

experience. Responses must be at least 250

points in anypartofthe response,or note form,Wordsinlength.

is not appropriate, etc.).

Task 1
Task Achievement

This criterion assesses how appropriately,
accurately and relevantly the response fulfils the
requirements set out in the task, using the

m inim um of 150 words.

Academic Writing Task 1 is a writing task which

hasa defined inputand a largelypredictable
output. It is basically an informationtransfer task
which relates narrowly to the factual content of

an input diagram and not to speculated

explanations that lie outside the given data.

Writing scripts are marked by trained and

ce rtific ated IELT Sexaminers.Scores may be
reported aswhole bands or halfbands.

On the next12 pagesyou willfind candidates’
answers to two sample Writing tests. There are
two answers foreach Writing task.Each answer
hasbeen awarded a band score and is

accom pan ied by an e xam iner comm enton th e
candidate’s performance for that task.

The examiners’ guidelines for marking the

W riting sc ripts are ve ry detailed. There are
many different ways a candidate may

achieve a particular band score. The
candidates’ answers that follow should not

General Training Writing Task 1 isalso a writinge regarded as definitive exa mples ofany

task with a largelypredictable output in that

each task sets outthe contextand purpose of

the letter and the functions the candidate should
cover in order to achieve this purpose.

particular band score.
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Academic Writing Sample Task 1A

Sa mple Script A
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Examiner comment

Band 5
Thelength of the answer is just acceptable. There is a good attem pt to describe the overall trends but the content w

ould have been greatly improved if thecandidate had included somereferenceto the figures given on the graph.W
ithout these, thereader is lacking some im portant information. The answ er is quite dif ficult to follow and there are
s om e punct uati on er r or s th at caus e confu si  on. Th e
structures are fairly simple and efforts to produce more complex sentences are not successful.



Academic Writing Sample Task 1A

Sa mple Sc ript B
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Examiner comment

Band 6
The candidate has made a good attempt to describe the graphs looking at global trends and more detailed figures. There is,

however, some information missing and the information is inaccurate in minor areas. The answer flows quite smoothly
although connectives are overused or inappropriate, and some of the points do not link up well. The gram m atic
al accuracy is quite good and the language used to describe the trends is well handled. H ow e ver, there are probl
ems w ith e Xpr es si on an d t he appr opri ate ch oi ¢ e
of words and whilst there is good structural control, the complexity and variation in the sentences are limited.
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Academic Writing Sample Task 2A

Sa mple Script A
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Examiner comment

Band 5
The answer is short at just over 200 words and thus loses marks for content. There are some relevant arguments but these are not

very well developed and become unclear in places. The organisation of the answer is evident through the use of fairly
simple connectives but there are problems for the reader in that there are many missing words and word order is often
incorrect. The structures arequite ambitious but oftenfaulty andvocabularyis kept quitesimple.
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Academic Writing Sample Task 2A

Sa mple Sc ript B
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Examiner comment

Band 6
There are quite a Lot of ideas and while some of these are supported betterthan others,there is an overall coheren

ce to the answer. The introduction is perhaps slightly long and more time could have been devoted to answering the
question. The answer is fairly easy to follow and there is good punctuation. Organisational devices are evident although some
areas of the answer become unclear and w ould benefit fr om m or e accur ate use of connectives. There are som e errors
in t he str u ctu res but th er e is also evid en c e
of the production of complex sentence forms. Grammatical errors interfere slightly with comprehension.
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